TEST BANK

CHAPTER 1. OVERVIEW OF RISK, RETURN, AND EFFICIENCY IN FINANCIAL MARKETS
Multiple Choice Questions

1.2 Some lessons for a history of returns and risk

1. Historically, which class of securities has provided the highest average annual return?
a) U.S. Treasury bills
b) Long-term U.S. government bonds
c) Long-term U.S. corporate bonds
d) Small-company stocks * 
e) Large-company stocks 
2. Historically, which class of securities has provided the lowest average annual return?

a) U.S. Treasury bills*

b) Long-term U.S. government bonds

c) Long-term U.S. corporate bonds

d) Small-company stocks
e) Large-company stocks
3. Historically, which class of securities has had the lowest amount of risk?

a) U.S. Treasury bills*
b) Long-term U.S. government bonds

c) Long-term U.S. corporate bonds

d) Small-company stocks 

e) Large-company stocks
4. Historically, which class of securities has had the highest amount of risk?

a) U.S. Treasury bills

b) Long-term U.S. government bonds

c) Long-term U.S. corporate bonds

d) Small-company stocks* 

e) Large-company stocks
5. The _______ is a proxy for the risk of an individual security.

a) risk premium

b) correlation

c) standard deviation*
d) degree of risk aversion

e) Both b and c are correct

6. Which of the following statements is correct?

a) There is a positive correlation between risk and return.* 

b) There is a negative correlation between risk and return. 

c) Risk and return are not correlated.

d) Standard deviation decreases with risk.

e) Both b and d are correct statements.

7. The difference between a return on a risky investment and a risk-free rate is called the _______.

a) standard premium
b) risk premium* 

c) degree of risk aversion

d) correlation premium

e) speculative premium

8. Risk-averse investors ______________.
a) choose an investment alternative that provides the greatest amount of risk

b) choose an investment alternative that provides the lowest amount of risk

c) choose an investment alternative that provides the highest return

d) require higher returns on investments with higher risk*

e) require higher returns on investments with lower risk

9. Risk-taking investors ______________.
a) choose an investment alternative that provides the greatest amount of risk*

b) choose an investment alternative that provides the lowest amount of risk

c) choose an investment alternative that provides the highest return

d) require higher returns on investments with higher risk

e) require higher returns on investments with lower risk

10. Risk-neutral investors ______________.
a) choose an investment alternative that provides the greatest amount of risk

b) choose an investment alternative that provides the lowest amount of risk

c) choose an investment alternative that provides the highest return*

d) require higher returns on investments with higher risk

e) require higher returns on investments with lower risk

11. Risk aversion on the part of investors implies that the relation between risk and return ______. 

a) is inverse

b) is direct*

c) does not exist

d) is quadratic

e) cannot be determined

12. U.S. Treasury bills ______.
a) have no default risk*

b) have no interest rate risk 

c) have always provided return that exceeded inflation

d) Both a and b are correct

e) All of the above are correct

1.3 Risk, returns, and the pricing of financial assets

13. To value an asset, we should consider 

a) the amount of each of the asset’s future cash flows 

b) the timing of the asset’s future cash flows 

c) the risk of the asset’s future cash flows

d) All of the above* 

e) Only a and b 
14. The value of any asset is
a) the present value of all of its future cash flows* 

b) the future value of all of its future cash flows
c) the simple sum of all of its future cash flows

d) its average annual cash flow
e) None of the above
1.4 Managing the risk of owning a financial asset

1.5 Prices, risk, and efficient markets
15. The three aspects of market efficiency are

a) allocational, informational, and financial

b) informational, operational, and financial

c) allocational, operational, and financial  
d) informational, operational, and technological
e) allocational, informational, and operational*
1.5.1 Allocational efficiency

16. ________ efficiency exists when funds flow to their highest valued use.
a) Allocational*

b) Informational

c) Financial  

d) Technological

e) Operational

1.5.2 Informational efficiency

17. Weak-form informational efficiency implies that

a) past information is reflected in security prices

b) investors cannot consistently outperform the market by tracking past prices 

c) investors can consistently outperform the market by tracking past prices

d) Both a and b are correct* 

e) Both a and c are correct  

18. Semi-strong-form informational efficiency implies that

a) past information is reflected in security prices 

b) all public information (past and present) is reflected in security prices*  

c) all information (public and private) is reflected in security prices

d) investors can consistently outperform the market using publicly available information

e) Both b and d are correct  

19. Strong-form informational efficiency implies that

a) investors can predict the future accurately and consistently 

b) investors can outperform the market on a consistent basis

c) all information (public and private) is reflected in security prices*

d) Both a and b are correct  

e) Both b and c are correct  

20. If investors can consistently outperform the market by tracking past prices, the market is _______.
a) weak-form efficient 

b) semi-strong-form efficient

c) strong-form efficient

d) allocationally efficient

e) informationally inefficient*

21. Speaking of informational efficiency, if the market is strong-form efficient, it also must be _______.
a) weak-form efficient 

b) semi-strong-form efficient

c) both weak-form and semi-strong-form efficient*

d) allocationally efficient

e) none of the above   

22. If insiders can profit from monopolistic access to information, the market must be 

a) at least weak-form efficient 

b) at least semi-strong-form efficient

c) strong-form efficient

d) not strong-form efficient*

e) allocationally efficient 

1.5.3 Operational efficiency

23. Operationally efficient markets _______. 

a) have the lowest possible transaction costs*

b) have all available information reflected in security prices

c) guarantee a positive return on investment 

d) are also allocationally efficient 

e) both a and d 

24. Opportunity cost is the cost is_______. 

a) associated with acquiring and processing the information needed to value a security

b) the implied cost of by-passing another investment* 

c) the cost of finding someone to trade with at an acceptable price 

d) the cost of the funds not being directed to the best use

e) none of the above

Industry application
25. Which of the following is a component of transaction costs?

a) commissions

b) market impact cost

c) cost of delay

d) both a and b 

e) all of the above*

In the news

26. Bearish investors realize _______ returns when the stock market _______; at the same time, bullish investors realize _______ returns.

a) positive; declines; negative*

b) positive; declines; positive

c) positive; increases; positive

d) positive; increases; negative

e) negative; declines; negative

ESSAY QUESTIONS

1. List and briefly discuss the three aspects of market efficiency.

Suggested answer: 
(1) Allocational efficiency exists when society cannot be made better off by a different allocation of the investable funds. In other words, funds flow to their highest valued use. Businesses choose highest NPV projects and investors acquire assets with the highest expected return for a given level of risk.

(2) Informational efficiency exists when the investors have sufficient, timely, and accurate information about projects or financial assets being considered. It implies that investors base their financial decisions on the best available current information but does not help predict the future correctly.

(3) Operational efficiency relates to the transaction costs required to trade. An operationally efficient market has the lowest possible cost because low the transaction costs allow investable funds to flow more freely to their most productive use.   
2. List the levels of informational efficiency and briefly discuss their implications.

Suggested answer: 

Strong-form efficiency implies that all information (public and private) of every kind is 
reflected in security prices. If it held, insiders would not be able to profit from monopolistic access to information. Under strong-form efficiency, it is impossible to consistently outperform the market.

Semi-strong-form efficiency implies that all publicly available information is in security prices. Beating the market is difficult but profits exist for the investor who first uncovers valuable new information.

Weak-form efficiency implies that all information about past prices is in security prices. Because of this, investors cannot profit from tracking past prices.
3. Define risk aversion and briefly discuss its implications for financial markets.
Suggested answer: 

Risk aversion is a tendency of investors to avoid risk if possible. It does not mean that investors will not acquire risky assets but that they will require higher return on riskier assets. Alternatively, when choosing among assets with the same expected return, a risk averse investor will choose an asset with the lowest amount of risk. Since most investors appear to be risk averse, we expect a positive relationship between risk and return. This relationship indeed holds: riskier assets have historically had higher returns.
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